(Xr \_:)‘)

(o,o)

€tioY |

COH)
(’,;(’)
(O,*-|)
CH
(-0
("H\

("“I_\\

(21)

Math 2153, Quiz #5, Spring 2014 Name 'K.g \r
Instructions: Show all work. Use exact answers unless specifically asked to round. Be sure to complete
all parts of each duestion,
1. Sketch the vector field F (x,y) = 2xy! + x2J.Plot at least 10 points or more to determine the
general behavior of the field.
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2. Find the value of the line integral [, (x +y?)ds along the curve 7(t) = cost i+ sint]. [‘D, 211 ]
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3. Find the

g ({g-(—z#)ﬂ'-r(ﬁf -2 )2t M

\ralue of the line integral fc (x + 2y)dx + (3x — y)dy along the curve 7(t) = ti+ t2j. EO (\_&
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Vector Field Online Graphing | htip://kevinmehall.net/p/equationexplorer/vectorfield.html

2xyi+x"2j

Add Field

WINDOW SETTINGS
xmin= -5 xmax= 5
ymin= -5 ymax= 5
scale= 0.05
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